Automatismes



Pour chaque suite,
calculer le terme demandé
et préciser la valeur
donnée a n.



N°1

Un+1 = 2Vp — 3
v4=2

Calculer vc.



N°1

Un+1 = 2Vp — 3
Vy =

=4
vg =20, —3 =1



N°2

v, =2n—75

Calculer vs.



N°2

v, =2n—75

n=>5
v5=2><5—5=5



Calculer us;.



N°3



N°4

U, = 2Up_1+2n+1
U3=1

Calculer u,.



N°4

U, = 2Up_1+2n+1
U3=1
n=4
U4=2XU3+2X4+1=11



N°5

Upnt1 = Sn‘l‘ 3

Calculer u.



N°5

Upnt1 = Sn‘l‘ 3

n=>5






N°6

W, = 5n — 2w, _1
Wg = 3

Calculer wg.



N°6
W, = 5n — 2w, _1
Wg = 3

n==~6
Weg =5X6—2Xwg =24



N°7

u, =3(n+1)—-5

Calculer u-.



N°7

u, =3(n+1)—5

n=>7/7



N°8

Upr1 =N+ 2(n+1)

Calculer uc.



N°8

Upr1 =N+ 2(n+1)

n=4
u5=42+2><5=26



Calculer vg.



N°9

Un = NMVn—1
v7=3
n=2~a

Ve =8 X v, = 24



N°10

Un+1 = Up—1 + 310
vz — _5

Calculer v,.



N°10
Un+1 = Up—1 + 310
Uy = _5

n=3
v4_=v2+3><3=4



	Diapo 1
	Diapo 2
	Diapo 3
	Diapo 4
	Diapo 5
	Diapo 6
	Diapo 7
	Diapo 8
	Diapo 9
	Diapo 10
	Diapo 11
	Diapo 12
	Diapo 13
	Diapo 14
	Diapo 15
	Diapo 16
	Diapo 17
	Diapo 18
	Diapo 19
	Diapo 20
	Diapo 21
	Diapo 22
	Diapo 23

